CHM 1046
Electrochemistry - KEY
For the following reactions:


1. Calc the E(cell
2. Calc the (G(
3. State if the process is spontaneous or non-spontaneous

A.  Zn2+(aq)  +  2F-(aq)  (  F2(g)  +  Zn(s)
E(cell = -3.63 V
(G( = 1.35x108 kJ

non-spontaneous
B. Cd2+(aq)  +  Al(s)  (  Cd(s)  +  Al3+(aq)
E(cell = 1.26 V

(G( = -729 kJ

spontaneous
C. Li+(aq)  +  2Br-(aq)  (  Li(s)  +  Br2(l)
E(cell = -4.13 V

(G( = 797 kJ

non-spontaneous
D. Pb2+(aq)  +  Mg(s)  (  Pb(s)  +  Mg2+(aq)
E(cell = 2.24 V

(G( = -432 kJ

spontaneous
1

